<ZLKAAEFU-12 49y h—-1)-I>
2016 BNRS2=74yH——F(HiY—2)
il BT —

=< FhFtH

U-12

SOCCER /%
LEAGUE ‘&

I ! FA

[U-10 OEB-HEER]

—fRFEEEN FINEY Y —H2
BARRES



= *55% U—10 2016 &/I[E> 2 =7ty )— 1) —DFigame ) —2" (PEFGENX)

489H (%)
U—10(D) Uu—10(0)
HERIG ELOFETSUR
SELEF (FaD  RE (FB = ¥ ((FED (F1%) = ¥
1 09:00~ R vs MR HEFC vs
2 09:50~ [ E:EFHR vs HEBWE MR vs
3 10:40~ b g vs REBFC | ABHE vs
4 11:30~ |EBFEA vs S R vs
5 12:20~ | HA&FC vs HEBWE | EEFRED vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELE ((FED (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELE (D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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4A108 (B)
U—10(D) Uu—10(0)
HERIG ESRFETIUR
SELEF (FaD  RE (FB = ¥ ((FED (F1%) = ¥
1 09:00~ b g vs FtkR | F@FFC vs
2 09:50~ [ f=&£D(0) vs gRLl IRH vs
3 10:40~ [ EEFFC vs kxR | =E£E2(0) vs
4 11:30~ b g vs gRLl Clilage vs
5 12:20~ [ f=&ED(0) vs EBEFFC BRIl vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELEF |(F8D (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELEF |(F8D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




8% U—10 2016 /B2 =7ty y—1)—FiiE!) —2 (PEFAE1K)
48168 (x)
U—10(E) U—10(0O)
HERS ZEZEILYvH—15(A)
SBEFE (FFD NRTIL FH) =E2() B ((FaED (F1%) = ¥
1 09:00~ [ /SZRT)L vs f=ED(T) &R vs
2 09:50~ &= vs F£iE | XRTIL vs
3 10:40~ e vs INATIL FLiE vs
4 11:30~ | :=E2(M) vs =3 f&r vs
512:20~ | F%i# vs f&r zE2(T) vs
6 13:10~ W Vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
U—10(0O) U—10(0O)
HERS
3 LG o)) (F1&) B ((FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ Vs vs
4 11:30~ W vsS
5 12:20~ vs vs
6 13:10~ Vs vsS
7 14:00~ vs Vs
8 14:50~ Vs Vs
OAOH(O)
U—10(0O) U—10(0O)
HERS
RELE |(FFD (F1%) B  ((FaED (F1%) = ¥
1 09:00~ Vs Vs
2 09:50~ vs vs
3 10:40~ Vs Vs
4 11:30~ W vsS
5 12:20~ Vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ vs Vs
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48178 (H)
U—10(D) U—10(E)
HEs5 ELOFETSUR FIWMT SR (E)
SELE (FaD  KRE  FH g 3 |Fi IR R =2 = ¥
1 09:00~ b vs =E2(0) | hEFC =% vs & IRR
2 09:50~ | ALEHE vs MR b 3 vs IRR &
3 10:40~ | HAEFC vs =&£2(0) MR =E2(T) vs HEWE B
4 11:30~ b vs HEHER | f-£D(0) = vs =2 HEWE
5 12:20~ | HA&FC vs S HEHE | ABHEE vs wiag =8
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELE ((FED (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HEs5
SELE (D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




B *55% U—10 2016 &/I[E> 2 =7ty )— 1) —DFigame ) —2" (PEFGENX)

48238 (1)
U—10(D) Uu—10(0)
HERIG ELOFETSUR
SELEF |(FaD) ABFC  (FH) = ¥ ((FED (F1%) = ¥
1 09:00~ gL vs HEWER | HER vs
2 09:50~ | FALLE vs HEFC BRIl vs
3 10:40~ ¥ H vs BRIl HE&FC vs
4 11:30~ | ABHE vs g ¥ H vs
5 12:20~ ¥ H vs REFC | ABHE vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELE ((FED (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELE (D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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48248 (H)
U—10(D) U—10(E)
HERG ELOFETIUR FIWLHI SR (D)
RGLFE (FaD R (F&) = ¥ |(FEnD BE R Le&Em | F #
1 09:00~ b g vs EBFFC | fz£ED(0) B vs =8 INRTIL
2 09:50~ | 7=&2(0) vs MR | BEFRH| AT vs IRNR TR
3 10:40~ R vs EBFRM| MR NSP vs B TRNR
4 11:30~ MR vs EBFFC I =2 vs INRTIL NSP
5 12:20~ | 1=£2(0) vs EEFHEE| EHEFFC| IAR vs HEE ==
6 13:10~ W W
7 14:00~ vs vs
8 14:50~ vs vs
OAROH(O)
Uu—10(0) Uu—10(0)
HERG
UG HF |((FFD (F&) Z ¥ |(FED (F&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ W W
5 12:20~ vs vs
6 13:10~ Vs Vs
7 14:00~ W W
8 14:50~ vs vs
OAROH(O)
Uu—10(0) Uu—10(0)
HERG
G HF |((FFD (F#&) £ ¥ |(FED (F#&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ W W
7 14:00~ vs vs
8 14:50~ vs vs




B *55% U—10 2016 &/I[E> 2 =7ty )— 1) —DFigame ) —2" (PEFGENX)

5818 (RH)
U—10(D) Uu—10(0)
HERIG ELOFETSUR
RELE (FaD HH 2 (FH = ¥ ((FED (F1%) = ¥
1 09:00~ ¥EH vs x| EBFFC vs
2 09:50~ | EEFFC vs EBFRE| LT vs
3 10:40~ gRil vs FLLR | EEFERED vs
4 11:30~ |EBFEA vs ¥ H gL vs
5 12:20~ BRIl vs EBFFC ¥ H vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELE ((FED (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELE (D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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5878 (L)
U—10(D) Uu—10(0)
HERIG ESRFETFUR
KBLHE |(FaD Bl (F1&) B  ((FaED (F1%) = ¥
1 09:00~ | HEFC vs gRil MR vs
2 09:50~ AR vs ¥ H HE&FC vs
3 10:40~ [EEFHRM vs BRIl ¥EH vs
4 11:30~ MR vs FLLR | EBEFRED vs
5 12:20~ | EEFHRM vs HEFC BRIl vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELEF |(F8D (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELEF |(F8D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




BiERX U—-10

2016 /B2 =7ty y—1)—FiiE!) —2 (PEFAE1K)

588H(R)
U—10(E) Uu—10(0)
HERIG FUWHIT TR (G)
RGHE (FED I (%) NSP B H ((FaD (F1%) = ¥
1 09:00~ = vs HEWE NSP vs
2 09:50~ | NSP vs f&m MBI vs
3 10:40~ | ALEE vs FEE & vs
4 11:30~ & vs &3] FEE vs
5 12:20~ =% vs NSP f%m vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELEF |(F8D (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELEF |(F8D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




8% U—10 2016 &/INE>2 Z 7wy 0—) —DaiainmE!) — 2" (BBFE1X)
58148 (L)
U—10(D) Uu—10(0)
HERIG ESRFETIUR
SELEF (FaD  RE (FB = ¥ ((FED (F1%) = ¥
1 09:00~ gLl vs MR f=&ED(0) vs
2 09:50~ [ f=&£D(0) vs HEBWE MR vs
3 10:40~ b g vs ¥ H HEBWE vs
4 11:30~ | 7=E2(0) vs g b g vs
5 12:20~ | ABHE vs ¥ H Clilage vs
6 13:10~ | HAEFC vs EBFFC ¥ H vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HERIG
SELEF |(F8D (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HERIG
RELEF |(F8D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




giEx U—10 2016 S/INED 1 =Pty )—1 — 5 — (BEFHEMHX)
58158 (R) —ERRRE
U—10(E) U—10(E)
HERIG FIWHIFUF(C) FIWHMIFUF (D)
£IBLFE (FED =EDM FHR) FzE F ¥ |(FED BE R #&E = ¥
1 .09:00~ | F%i# vs IRAKR | =E2(T) NSP vs HEWE B
2 09:50~ f&r vs zED(M | TRK 3 vs ISZRTIL NSP
3 10:40~ | IRR vs =2 HEWE &3] vs NSP INATIL
4 11:30~ | 7=E2(T) vs FEE == #&m vs i &am
5 12:20~ =2 vs hEWE | F2E | SNATL vs & f&r
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HEsS
SELE (D (F %) = ¥ ((FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HEsS
SELE (D (F18) = ¥ ((FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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5822H(RH)
U—10(D) Uu—10(0)
HERIG FUHIT IR (A)
G HF (Fa) F]EFFC FH) B  ((FaED (F1&) = ¥
1 09:00~ ¥EH vs EEFFC (EBFEHE vs
2 09:50~ | FALLE vs =BT RA ¥ H vs
3 10:40~ | 1=ED(0) vs ¥ H Clilage vs
4 11:30~ | LBHE vs EEFFC | £2(0) vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OHAOH(O)
Uu—10(0) Uu—10(0)
HEs5
RELE ((FED (F1%) = ¥ ((FED (%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HEs5
SELE (D (F1%) = ¥ ((FED (F %) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




Bi2% U—10 2016 &/INED 2 =Pty )— 1) —TgiEE —2 (BEFEMX)
5A28H (L)
U—10(E) Uu—10(0)
HERB FWGHIT SR (A)
KELE (FFD FEE FHR fEOM | B #H O ((FED (F1%) = ¥
1 09:00~ | IXRNKR vs NSP FLiE vs
2 09:50~ | FZE vs ISNRTIL IRNR vs
3 10:40~ | f=ED(T) vs IRAR INRATIL vs
4 11:30~ NSP vs FEFE | =E2M vs
5 12:20~ B vs =ED(T) NSP vs
6 13:10~ W Vs
7 14:00~ vs vs
8 14:50~ vs vs
OAROH(O)
Uu—10(0) Uu—10(0)
HERG
UG HF |((FFD (F1&) B ((FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ Vs vsS
7 14:00~ vs vs
8 14:50~ vs vs
OAROH(O)
Uu—10(0) Uu—10(0)
HERG
UG HF |((FFD (F1%) B  ((FaED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ vs vs




BfEgx U—10 2016 S/INED 1 =Pty )—1 — 5 — (BEFHEMHX)
6A58 (H) —ERRRE
U—10(E) U—10(E)
HEsS ZEZILYYh—15(A) ZEZILYYh—15(B)
RELE (FFD  NSP (FH) ASRFL | T/ ¥ (FaD &R (FR)  #&® = ¥
1.09:00~ | F%& vs B NSP IRR vs & HEWE
2 09:50~ NSP vs EDM | F%E | ABHE vs INATIL #&m
3 10:40~ =2 vs FEFE | =ED2M f&r vs TRAR L
4 11:30~ | /SRTFIL vs NSP =2 B vs = TIRNR
5 12:20~ | f=&2(T) vs =2 IRRTIL | B vs & B
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HEsS
SELE (D (F %) = ¥ ((FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O)
Uu—10(0) Uu—10(0)
HEsS
SELE (D (F18) = ¥ ((FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




